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The regression equation is

C2 = =162 % .0,0803 C1

Predictor Coef SE Coef T P
Constant -1,618 1,798 -0,90 0,380
S 3 0,080330 0,003302 24,33 0,000
S = 2,817 R-Sq = 97,0% R-Sqg(adj) = 96,9%

Analysis of Variance

Source DF Ss MS F P
Regression 1 4697,7 4697,7 591,85 0,000
Residual Error 18 142 ,9 7:9

Total 19 4840,5

’Q" : Residuals Versus C3

(response is C2)
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Regression Analysis: C2 versus C1; C4; C5

The regression equation is

C2:.=~- 85,69 £ 0 OB832 Cl % 3:51.:00 & 5,20 €5
Predictor Coef SE Coef P P
Constant -5,695 1,358 -4,19 0,001
o 0,083199 0,002124 39,16 0,000
C4 3,5083 0,9680 3,62 0,002
cS 552016 0,9718 535 0,000
S = 1,754 R-Sq = 99,0% R-Sq(adj) = 98,8%

Analysis of Variance

Source DF 8Ss MS F P
Regression 3 4791,3 15971 519,07 0,000
Residual Error 16 49,2 2.3

Total 19 4840,5

Source DF Seq SS

3 1 4697,7

Cc4 1 5.5

ch 1 88,1
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